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H¥gfdAT & fIT 3gar / Instructions to the Candidates

1. w4 g7 udie gRas & &0 F feml W wAt oX wealh it e e v
ST /The question paper is in the form of test booklet. All candidates will be
assessed on identical questions.

2. 30X forms &g | 3Rt o SEa A ufd F Y e ¥ T HTANR FR
gfeda 3ueleY TS ST IedaTe B @ ufd & HTANR Afe P e B
aar et @ " &% / A separate OMR answer sheet with carbon impression

is provided to all candidates for answering. The carbon impression of the OMR
sheet will be detached and handed over to candidate by the invigilator.
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W TS W UF Asg dUT / HUAT HEA & WY fGIm Smeenm, St RRAw swR
R@ew (&), (@), @0), dar (@) a0 & 308 & v & @ FE 9w / Each
objective question is provided with a text and/or figures wherever applicable
with multiple answer choices (a), (b), (c) and (d). Only one of them is correct.

. ATAIR e W T 7T el & «ae | w1 e S B Refad & aur

e ¥g dad Al I>ar HA afd Ulse HAA F A WA H / Read the

instructions on the OMR sheet carefully. Use only Blue or Black Ball Point Pen
for writing on OMR sheet and marking your answers.

L@ GRAE USR & UM b W SR g WA Uh e @l

AT 3TRT & AT P FPRIcHD 31T a8 & / All objective type questions carry

equal marks of ONE for a correct answer. There is no negative marking for
wrong answers.

. T R g RARY 3 & W 3@ Ted Sa3 @ AT S|

Multiple answers for a question will be regarded as a wrong answer.

. 3MEYTH Bl W 16 B &g Yeaar 3 e v R Ta &1 3uder & |

3o ¥ P W AfMe Iucey A HE Swelt / Space available in the booklet
could be used for rough work, if required. No separate sheet will be provided.

.S U 3T F T aga & ST &9 WA, 39 W HUR AT P qalig 7 P A

T WH &l Y Hhd & dUT d91¢ & &S UH & ¢ / Do not waste time on

questions, which are too difficult for you. You can go on to other questions and
come back to the difficult ones later.

L O08T & WA 6 & e eafidt @ odenm w9 oma f agefa A

Candidates are not permitted to leave the examination hall during the first hour

10.
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NUANR 3R Qe Hedetsd o dfa & aur et o grema & el sk s &
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carried by the candidate under any circumstances.
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: ElJIéi%El Udleldd Teh ... UdTeld ol Grinding operation is a

(a) g'ﬁ?l?T Dressing Operation (b) e URTRIUT Surface Finishing Operation
(c) IfaaT Forming Operation (d) ATYIT Shaping Operation

3o Afd Ay I feuser afd F9rHIT e @t &2
The spindle speed of high speed lathe is around

(a) 600-1000 r.p.m (b) 1200-3200 r.p.m

(c) 2000-2400 r.p.m (d) 3500-4000r.p.m

fere HH=ag # Hsel, I T133, HUBS T3S T ol URE ld o7
The assembly which consists of saddle, cross-slide, compound slide and tool post is

(a) &3¥Cldd Headstock (b)ETECId Tailstock

-

I

~

ca

(c)d5 Bed (d)yhRos Carriage

Afoiar T &1 §2 Knurling tool (knurl) is a
(a) Uehd ﬁl@ I el Single point cutting tool (b)lﬁ & hIce ¢el Saw tooth
cutting tool (c) HHATIA el Embossing tool (d)urfes &°l Parting tool

Th oY H Pled Ifd AT B & I FT 87

Formula for finding cutting speed in a lathe is
wdn D—-d

(3}1000 m/min (b)L i 1000

m/min.

mrih

(©) 21

m/min (d) ﬁ m/min

Y A od ghs &b ToIU PITHT SURIUT HEIH &Il &2
Name a device useful in supporting a long work piece in lathe.

(a)d% Bed (b)CeIECId Tail stock

 (c)hIS FHRTATH Feed mechanism (d)¥UsSA Spindle

AT FIT §? Reameris a

(a)EI§ fa?;\EFIEFI' &el Multi point cutting tool
(b) Tchel ﬁq hlced gelSingle point cutting tool
(c)EIT%'JT ol Parting tool

(d)ET TU Pl T Saw teeth cutting tool

Th 137*[ F1 fora Feraia ®or foegar axar 82 The lip clearance angle of a drill is
(a) 59° to 60° (b) 118° to 121°
(c) 12° to 15° (d) 180° to 182°
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9. TEUSH & Th fAAC &H TFIl I T&IT dl FIT Phed o7
The number of revolutions of a spindle in one minute is known as
(a) meters/min (b) RPM
(c) TPI (d) mm/stroke

10. Ueh GATT HS dhUIg W 3T B TIHT HIFAAT SYSIUT ¢l Pl ARG hcl
&7

Name the device used to guide the tool when drillling is performed on many numbersof
identical workpieces.

(a) ¥¢U €elleh Step block (b)V-Eetieh V - block
(c)PIUT T Angle plate (d)fSer TS9T Drill jigs

11. Y Pep aTel ZT PI Thgad &b [olT Thd SR &l JIWT ThAT SATAT &7
What is the name of the device used in holding drills with straight shanks?

(a) Tl Sleeve (b) ETHE Socket
(c) Ih Chuck (d)eTaaT 3-@?—!‘137—[ Tapping attachment

12. =3 & fg@m v & BT FT Phad %C? The tool shown in figure is called as
(a) diel Ui 3 Ball peen Hammer
(b) e &FY Frame Hammer
(c)EI-Tvl'T &FT Claw Hammer
(d) Fefat 3T Sledge Hammer

13. U TS P AT T ¥ A & fov fopg JATael &1 IUATT Bl 67
The mechanism used to move the shaper table automatically is

(a) JF I JATTell Back gear mechanism
(b)a'v_cﬁ T Tolie Toleh IFTdell Crank & slotted link mechanism
(c) TFTelX T TATT Tumbler gear mechanism

(d)TQe T Ufel TATTS! Ratchet & pawl mechanism

14, AT FMF & calka arody TFdel A, 3T b GHAT & a9l Tlh JAT 4
U fehcelr elamm?

In quick return mechanism of shaping machine, The ratio of forward stroke time to return
stroke time is

(@)3:2 b} 5

(c)1:3 (d)y1:2

—_—

15. A W FE YpR T el & FAMET FHr Jrehr &2

What type of surfaces are machined on a shaper?
(a) GUTC HAJE Flat surfaces (b)23 Thread

(c)f&eIBT Cylindrical (d)aﬂé %l None
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16. TRREAT TSI GRT fohcel Afeehar umd el ¥2

The accuracy obtained by precision grinding is
(a) 0.000025mm (b) 0.0025mm
(c) 0.00125mm (d) 0.00625mm

17. [ WSS & R fohefell o1 AfAa aidr 7

The heat generated during dry grinding will be
(a) 2000° C (b) 20° C
(c) 1000° C (d) 1200° C

18. UcTEY TSI el Ty & o opg @i &1 39T gar &2

Bond used for making elastic grinding wheel is

(a) TATCHISS Vitrified (b)&Telhe Silicate
(c)qeld Shellac (dHATES Resinoid
19. U PfAA HUHYH P ATH IaTG| Name one artificial abrasive.
(a) TeI3T TcAXT Sandstone (b)THY Emery
(c) PREA Corundum (d) FIGEIG Eh"IEﬁEg Silicon carbide

20. T & @ o Famael gRT b 1Y A Y& oy & ager Sar 27
Which of the following mechanism converts rotary motion to linear motion

(a) ISl IR FATTT Bevel gear mechanism

(b)TH TT TH T JITel Worm and Worm wheel mechanism
(c)&eT theh ferax TaTaell Bell crank lever mechanism

(d) %heh T Telie TITET Crank and Slotted mechanism

21. AT @1l o1 Reerg fopaer fRam ar? Milling machine was developed by

(a) ee{I HISES Henry Maudslay (b) SelT TegeaT Eli Whitney
(c) IFH ATEAT James Nasmith (d)HTSheT HITS Michael Faraday

22. f&ferT @1l H, Ped rTh‘&‘»T gd &2 Ina milling machine, cutters are mounted on
(a) BITA Column (b) FEUSS Spindle
(c)ﬂlal?iiiii'l 3T Overhanging arm  (d)3T&R Arbor

23. 0 fHde 3 fafolr dex W us g grr a7 &1 78 g A Fgard ¥

The distance travelled by a point on a milling cutter in one minute is known as
(a) dTEeT 91T Cutting speed (b) BTC T IEITS Depth of cut
(c)REUsa I1fd Spindle speed (d)BIE Feed
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24, aTEATAS ATSYS 6.62 T HIUT 25 Al & WY Uh GuER IR & WA

25,

HAISGel AT BIIM?
The normal module of a helical gear with real module (m) of 6.62 and having an angle of
25deg is?

(a) 6.62 x sin 25 deg (b) 6.62 x cos 25 deg
(c) 6.62 x tan 25 deg (d) 6.62 x cot 25 deg
Iz T AT gy el U Y S & forw SULNT fRAT ST ®1 3T @ O ud

A Ay AT d g fRv aT ¥ e # dldar &g 98 ded & S R
NS | A SATAT?

Thread ring gauges are used check external threads. Separate 'Go' and 'No Go' gauging
members are provided. Which one of the following screw thread elements is not checked

26.

27.

28.

with the ring gauges?

(a) U= Pitch (b) &l IUT Helix angle
(c) UIRISeT Profile (d) T =1@ Pitch diameter
ARG T & IAUET EH W AH TR & &I A Al el ¥ A T

fored Tt # Uy &2
Morse taper is one of the internationally accepted standard tapers. The morse taper are
available in numbers from?

(a)0to 7 (b)0Oto 8
(c)1to7 (d)1to8
T AW T P 36 ST TI 3mm ASYA & al SHeT U cary fhdar gem?

A gear wheel has 36 teeth (z) and 3 mm module (m) its pitch diameter cutter?

(a) 12 mm (b) 75 mm
(c) 80 mm (d) 108 mm
U ATFC Pl Teh GRShd he A Tl bl 37 &1 Ao # & slaar geh

AT FFHT BT gHITAT B2

29,

A Shaft is turned in one finish cut which one of the following parameters will directly
influence the machining time?

(a) pIce 9 Rlé Cutting depth (b) BTEIT PIUT Setting angle
(c)ﬂéﬁfﬁﬂ &I <ITH Diameter of work piece  (d) gel JTAT qﬁ Tool travel distance

AT ANT H, Fe A TS FES gRT & AT 62

In a planning machine the depth of cut is given by?

(a)m\_ﬂﬂ ©ol Fell$s Adjusting tool slide

(b) &oT BlosY & B8 TE Pl AT T Rotating the feed screw of the tool holder
(c) Y Foll33S ol TAT H Moving cross slide

(d) GHUTH o 3T I Lifting the work piece

A-4



30. 9cg d1de &1 e ol U Gy dl JRINT fhar Jrar §, 39 foha geR

31.

A AT ST &2

The component of the surface texture upon which the roughness is superimposed is
known as?

(a) @l ®&TUTAT Surface roughness (b) EAEI TATIC Surface texture
(c) @ThT Lay (d) TLITHTAT Waviness

Teh IAAATH &olich & UNSHd T & FEa i & for e & a frg
BIgel &1 e SUGh BIIN?

You have to file an aluminum block to a smooth finish, which one of the following cut of
file is most suitable?

(a) 3dce &< Double cut (b)dsh e Curved cut
(c) TTET T Rasp cut (d) Tehel T Single cut .
32. 7@ & @ BlFET U FAA JUTUS g2
Which one of the following is an artificial abrasive?
(a) TIRY Emery (b) 8T Diamond
(c) PREHA Corundum (d) FRfereier ®1aTss Silicon carbide

33.

34.

U TSI oIl & AT PR HEAT gRT AT Siar &1 fove 39 & I 3R
&l AT URSHI FHel 1T &2

The grain size of a grinding wheel is indicated by numbers, which range of grain size
referred to as 'Very Fine'?

(a) 10 - 24 (b) 30 - 60
(c) 80— 180 (d) 220 - 600

ZATAT 87

A high carbon steel has to be forged, which colour indicate the most suitable forging

35.

temperature?

(a) 9ISl Tl Yellow red (b) IT&ET I TSI Dark cherry red
(c) e White (d) EehT OTAT Light yellow
U fAfer #AMT &1 o w U smm quw fAwee M U 40:1 )

faferr :eher &1 o F1g A

The lead screw pitch of a milling machine is 5mm and the dividing head ratio is 40 : 1 the
lead of the milling machine is?

(@) 0.125 mm (b) 5 mm

(c) 8 mm (d) 200 mm

A-5



36.CoIC hd colch U4 U el TRUSH T 38T AT HdT BT ATfeu?

The axis of the plate cam blank and the end mill spindle should always remain?
(a) Teh q?li Y 3ddd Inclined to each other

(b) Tch qgili % FHATIY Parallel to each other
(c) Th {(ﬁ & TIua Opposite to each other
(d) Figad U 37a4d Vertical and inclined

37. 9 #MT F ToFg gt 1 3TN fRAT SATAT &2 The tool used in a lathe machine is a
(a) El'g'-ﬁlq dIcel gel Multi point cutting tool (b) uaﬁa—ﬁq Ice ol Single point cutting tool
(c) |f &d Pl gl Saw tooth cutting tool (d) f&er Drill

38. druad) #MGT o gva Farford A6 fohan STdT| saa @dFor fohd U gidr &2

CNC machine are not manually operated. They are controlled by means of?
(a) UTITHA Programme (b) TdTAT Operating
(c)?}m Cam (d) Told S guTTel! Plug board system

39, AT3eY aNET fopg forw & ST €2 Counter boring is done for?
(a) [ ®RT &1 Baer & foIT Deburring hole ends
(b) &g & TP HPR & TR & foIT Enlarging holes to accurate size
(c)Eﬁ}I'\r gt @r m B &b foT Finishing cored holes
(d)ﬂﬁ"ﬁf ofrg Eh & forw Accommodating socket head screws

40. 5 & A Torg 3uaeT & fow uige ¢ urse fAGE0T gonel 3ugs §?
A point to point control system is suitable only for one of the following applications?

(a) TATeIaT Cﬂfﬁfgﬂ Milling profile (b) EfFT Turning
(c) I3Fel9T Drilling (d)UJE%?T Grinding /

41.3cd deddd U dlol U Tl gpury o U vgugued [AfeldT &ed & &M
TR & fow Ao & wlaar b Hor Hid 3ugD eon?

A steel workpiece of high tensile strength is to be machined with a HSS milling cutter,
which one of the following rake angles is best suited for the cutter?

(a) 8" (b) 12"

(c) 20" (d) 28"

42. TMSTEI et & TSI & FROT Pled &THAT U FAT THTT B2

Due to glazing in grinding wheels, what will happen to Cutting capacity

(a)ﬂ??ﬁ Decreases (b)aﬁ?ﬁ Increases
(c) PIS UHTT el No effect (d)3T & & PIS F&l None of these

A-6



43.

44,

ard dre] U3 wred #, [Puse dur oz & foha feer #F gere

In cutting right hand threads, the spindle and lead screw rotates in which direction
(a) @A &2 Same direction (b) FeUSS gAAT & W o & el gHAT
Spindle rotates but Lead screw does not rotate

(c) Taufta f&em Opposite direction (d) oIS &h gAAT © W Pusd EEy AT

Lead screw rotates but Spindle does not rotate

2 HASGS dAT 60mm U <A aTel T Uehel TEIE I o A ThaT ST &
aifd 3rgurd 40:1 &1 TohE od1$ dh da &l dIeaAT BM?

It is required to machine a single start worm of 2 module (m) and 60 mm pitch diameter,
the speed ration is 40:1, to what length should the worm be cut?

45.

46.

47.

(@) 2T’ mm : (b 146 mm (c)29.3 mm (d) 33.3 mm

T 3culg H JOTIAT Il AT ST & STG /A product is said to have the quality

when?
(a) 3H®T PR TT ITATH Gram & ©1/Its shape and dimensions are within the limits

(b)'d_?:?—f ﬂﬂ? IREG g/ It appears to be very good
(c) 3TgT & fow EREGH & / Itis fit for use
(d) geTdl T TFT TET & / The choice of material is right

o Y Tefep & Tusa et UT g Sux &1 3uANeT fRaT Srar &2

Which taper is used on spindle nose of the lathe head stock?
(a) STAT TUT Jerno taper (b) ST UG MY WX Brown and sharp taper

(c) =T TUT Pin taper (d) A WX Morse taper

wmmw%mﬁwaﬂ%,w%amm%lﬁmﬁﬁm
YR 38 HI GATAT &2

A hole whose lower deviation is zero is called basic hole, which one of the following

48.

letters indicates basic hole? '
(a) E (b) F (c)G (d)H

f@fonT 7 3 v B3 FMa oy & forw weor va uRsgpa afier i el &
w807 IO & forw gt g &

Rough and finish boring operations are carried out to machine a hole in a milling
machine, for rough boring select?

(a) 3Ta [EUser a1fd wa m $I3 High spindle speed and coarse feed
(b) ¥ FUse afd wa HUﬁ'W FIsslow spindle speed and coarse feed
(c) g T&user afa wa Qﬁw hIsSlow spindle speed and fine feed

(d) 3= &user a1ifa v Uﬁ'ﬁ?{ﬁf PISHigh spindle speed and fine feed

A-7



49. ool 3e AMaT #F e’ & fow fFg yepR &7 afd THT §?

Which type of motion is possible for table in pillar drill machine?
(a) hael HAXGR Only swivel (b) Thael HUI &I 3 Only upward
(c) hael T T 3R Only downward (d) T8 $aReR, 3ur Td AT All

swivel, upward and downward

50. AT F IUAWT AT} YT F e F A pladr frar a& & S &2
Which of the following is not the operation performed using shaper
(a) BfcaT 8T Cutting Splines
DGIGERERCECE] adel hT FMFT Machining horizontal & vertical surfaces
(c) IR &I Cutting Gears (d) TFAIT Y3 HIEIT Cutting square

threads

51. U AToTAT A BT ool Qe el Al &2

The tool post of a planning machine is mounted on?
(a) TU Apron (b) SATE Y& Cross rail
(c) FHTR dTFH Clapper box (d) 85T Saddle

52. Femmsa faAferer & fow fAfRT wex &1 e & @ siaar o1 3T 3uYH 2
Which one of the characteristics of a milling cutter is most suitable for climb milling?
(a) dTH &&d IcdT Left hand cutting

(b) 31 foFerid wa W& HioT Larger clearance and rake angle
(c)EﬁlTSﬁB_&T BT Y YT Teeth material is carbide
(d) &Y deX 38T & T FH TIT & The teeth are straight to the axis of the cutter

53. Th AW el A 36 Y TT 3mm ARG ¥, O T came fpaan gwom?
A gear wheel has 36 teeth and 3 mm module, its pitch diameter is?
(a) 12mm (b) 75 mm

(c)y 80mm (dy 108 mm
54, et 3 7N & 3Rwaa fraar urar i@ &2
What is the maximum power that we can expect in pillar drill machine?

(a) 0.5 Kw (b) 1.1 Kw
(c) 5.5 Kw (d) 11.1 Kw



55. [#cs wass fou ¢or @ R & i ¥ TR g Ifthr wa wHy, g
& W U AT Mcelh P derd fhAT Sl ¥l 3Ed fov sugw daerd
BITET &2 While grinding and lapping cemented carbide tipped tool with diamond

wheels a good flow of coolant should be directed to cover the grinding zone, the coolant
suitable is?

(a) G Aol Soluable oil (b) @ITST el Mineral oil (c) HeWIpd el Sulphurised
oil (d)t\T@‘»_rf T UreT &1 FRAHUTIMixture of paraffin & water

56. Uh & I3 Al 1" B.S.P.fATCE fomam amm €1 1 9 S, 1" garfar ¥

A screw thread is designated as 1" B.S.P. thread, in 1 inch B.S.P. thread what 1" indicates?
(a) 95 T HET <ITH Major diameter of thread

(b} oS T o a1 Minor diameter of thread
(c) ¥ T TOU=T ST Pitch diameter of thread

(d) arsu & &g @1 <aE Hole diameter of pipe

57. AGA & qd fgfeig aR 31cl a1 &I Y A =t 3mades &2
Zero setting of the two point bore dial gauge before the measurement is necessary to?

(@) & gﬁ' &l 3G Account for the errors in the gauge

(b) JATT T HIALT Facilitate comparison

(c) Il H HARIFF &1d IT &HIAT Setup initial pressure in the gauge
(d) ATT <hT RPN &I AT Eliminate inaccuracy of the measurement

58.711d 3Uid A URad & a1 &fds @ >R & Thg 7y & deeoa &
forT TohE R cogeaT &1 AT fRar Srar &2

Which gear arrangement is used to change the circular motion of horizontal to vertical
without change in speed ratio?

(a) & TUT M Two spur gear (b) & &felhel AT Two helical gear
~ (c)el Jdol IJT Two bevelgear  (d)TH T g M Worm and wormegear

59. el g1 & HeH A foe 30 v = &7
What is a built up edge is respect of a turning tool?
(a) e TSl WX ST ATHIN P 3T TATTT Job material embedded on tool edge

(b) Gel dp W TH EFIE‘IE‘&' feTU aehrar A carbide tip soldered on a tool shank
(c) T&a N GATT] [MSIRYE] & AdHIUT DI Teh UgTd A method of reconditioning worn

out cutting tool edge
(d) e & | ol HIEIT THA A tool cutting edge with a crater on it

A-9



60.

61.

62

T Uee 3o AT FFAH ..o mm AT &1 g HL Tl o

The pillar drill machine can perform maximum mm of diameter job.
(a) 10 (b) 100
(c) 20 d) 200

B & @ lFar oNe BIs Fga TgiT i el & for AR s aweeg &
e o &2

Which of the following CNC codes cancels the mirror image coordinates for double turret
turning centres?

(a) G94 (b) G76

(c) G69 (d) G72

BT 3t 65 e 1 2 5 P B A @ dlaar ad ¥

63.

Which is the correct expression for the unit of feed rate in milling?
(a) m/min (b) mm/rev
(c) mm/sec (d) mm/min

3767 B R A & g w1y & A F gue Sorell HAT AT §?

When using the right hand rule for identifying an axis, what does the index finger
represent?

(a) Y- Axis (b) Z -Axis
(c) X- Axis (d) IS & None
64. TTHT: [hE & Plead ddl &1 SUIANT el AT SATAT?Usually no cutting oil is
used in
(a) SNT=I9T Broaching (b) BT Honing
(c) ¥ VTS Thread rolling (d)TATTeIdT T ATUIT Planning and shaping
65.%?1’ F oplerdr qa HﬂG_l'_q' BGI ?"? Name the groove present on the drill.
(a) eI Flute (b) T Step
(c)'édloi Angle (d)éﬁ lap
66. 90°UTaR URYUT & fov fhg Wbk & IR &I 3T BT &7
The type of gears used for power transmission at 90° is
(a)éﬁl?{ AT Bevel Gears (b) TUX X Spur Gears
(c)%ﬁv’l’ch_vr IR Helical Gears (d) T AT Worm Gears
67. 24 TllC ATCl YD Tl PT SUAMT i §U Teh dehdrd o TR Pt 8 aTeR
Rt 3 et ¥ g s wd fef
Circumference of a work piece is to be divided in 8 equal division using index plate of 24
slots. Indexing ratio is equal to
(a) 2 (b) 4
(c) 3 (d) 6
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68. HIRAT T Ud Fgal & TIT STAT el URHAT AT Hgelldl &7

The process of heat treatment that softens and reduces brittleness is called

(a) ATIATSIZIT Cyaniding (b)a'TIEﬁTlgfﬁ?T Carburising
(c) 3TNTeldT Annealing (d) SFaTLaT Tempering

69. IUT AT T TIH BICT SBIS FAT &2
Among the followings which is the smallest unit of angle measurement

(a) s /Second (b) X8I /Radian
(c) TA=TE /Minute (d) fZaf/Degree

70. UATHT 3]l &A1 7 Poisson’s ratio is?

(@) Sifs Eicias @i ) Stress/strain

(b) dard /ufdddl Strain/stress
(c)EITf’ifIﬂ? data / WY dATd Lateral Strain/ Linear Strain
(d) 3T =g El'ﬂé aﬁr None of these

71. ™3 # iaar &l %? The tool shown in the figure is

E == )

(a) BT BT Cape Chisel (b) 3TT3S UEC Sl Diamond Point Chisel
(c) 38 ATH &l Round Nose Chisel (d) @Tes &l Cold Chisel

72. Uh HRUNAAAT FHTaT #H, 25.000+0.040-0.010mm TR & ATFET T el
25.000+0.030+0.020mm 37T aTel T3l & 2ar &1 38 wiead # IFfAdda
TEASIY (ATSHIT H) fhaar geme?

In an interchangeable assembly, shafts of size 25.000+0.040-0.010mm mate with holes of
size 25.000+0.030+0.020mm. The maximum interference (in microns) in the assembly is

(a) 20 (b) 40
(c) 30 (a) 10

73. 3T &HAT T FIRAT UTH X & forw @e & O forgasr suAer seam
IR URhaT #F AT HETH B TU F arar §2

The following is used in heat treatment process as a quenching medium for obtaining a
higher degree of hardness

(a) TETYH HFT Fatty Acids (b) @fAST del Mineral Ol
(c) ATH Waxes (d) FRISE FEUAT Graphite Suspensions
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74, 9T HA dXA BT U AT §? The use of metal working fluids
(a)gel STiael ahrel @1 i Increase the tool life

(b)m uﬁbcpd HdE 3cUeel DIl Produce better surface finish
(c) agAT ghg #r AHAUTH Prevent rise in temperature
(d) 3ugw | All of the above

75. 3H BItai & faed & @ ladr [afRrgar # gur a6 glar?

Which of the following properties is not improved by hot forging?

(a)ﬁ“l??ﬂ Brittleness (b) IATEY HIHAT Elastic limit

(c)aﬂ_@RFIT Work hardening (d) T e rfehUltimate tensile strength
76. TUfhe o QY AT T&AT Ud Tolch hl T&AT &bl AT ... BT &

Sum of number of links and number of teeth of the sprocket is

(a) @H Even (b) flaw#H 0dd

(c)GH AT fI9#H 0dd or Even (d) 3 A Eﬁg o‘-lﬁ None of the listed

77. SS9 U4 f2aa gell 1000rpmud 500rpmtWR gH & & Ife Sr$faar Flhe
20 AU § a1 Zaa TWikhe & AU Hr T&IT A hiAT]

Driving and driven pulleys are rotating at 1000rpm and 500rpm. If number of teeth on
driving sprocket are 20, find number of teeth in the driven sprocket.

(a) 10 (b) 41

(c) 40 (d) 11

78. WUAE YeRIGA @b WA & &Y, $1S G71P_Q_U_W_D_S_F_#HD
a7 R §?

With CNC repetitive cycle programming, D in the code G71P__Q_ U_W_D_S_F_;
(rough turning and boring repetitive cycle) stands for

(a) &I q [Awe ddg & dHe B AJUTd The ratio of cut from the far to near surface
(b) G71 % J{d &g T eolleh HEZTt is a block number immediately following the G71.
(c) CPU P XFH AT BT AT ddrdr % Tells the CPU how the X value must be

adjusted (d) ®&UT UTH & ToIT we 6l Z"I%Tl'é The depth of cut for the roughing pass.

79. Udh Hreadr A T fidered Tomell AT e, Uy
The coolant system of a CNC machine would most commonly be a pump.
(a)3Td <Id High Pressure (b) {3 GT& Low Pressure
(c) ACIHA cTd Medium Pressure (d) I&T Gravity

80. Wuadl AN H T Th APea (B &) fraar &2

What is the common rotary resolution for most CNC machines in degrees?
(a) 0.0001 (b) 0.01
(c)0.1 (d) 0.001

A-12



